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= ΔpFΔt

= 2π / ωT

= v2 / r a= ma = mv2 / rF

= p2 / 2mEk

= ωrv
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= mcΔθΔE = LΔmΔE
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= 2.898 x 10-3 mKλmaxT

= σAT4L

= σ4πr2T4L

= Q / VC

= kQ1Q2 / r2F

= V / dE

= kQ/r2E

= 1 / 4πε0k

= ½QVW

= V0 e-t/RCV

= -d(Nφ) / dtε

= V0 /  2 Vrms = I0 /  2 Irms

= kQ/rV

= F / QE

= I0 e-t/RCI= Q0 e-t/RCQ

= BIl sinθF

= Bqv sinθF

= L / 4πd2I

≈ Δf / f ≈ v / cz = Δλ / λ

= H0dv

= -λNdN / dt

= N0e-λtN

= λNA

= ln2 / t½λ

= c2ΔmΔE

= A0e-λtA

= Gm1m2 / r2F = Gm / r2g

= - Gm / rVg

= -ω2xa

= Acosωtx

= 2πT l
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= -kxF

= -Aω sinωtv

= -Aω2 cosωta

= 2π / ωT

= 2πfω

= 1 / fT

= p / BQr
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= FxM

= u + atv

= u2 + 2asv2

= ut + ½at2s

= maΣF

= FΔsΔW

= ½mv2Ek

= mgΔhΔEgrav

= E / tP

= mvp

efficiency = ____________________useful power output

total power input

= F / mg

= mgW

= W / tP

efficiency = ____________________useful energy output

total energy input

=s (u + v)t
2

_______

= 3.00 x 108 m s-1c

= 8.85 x 10-12 F m-1ε0

= -1.60 x 10-19 Ce

= 6.63 x 10-34 J sh

= 6.67 x 10-11 N m2 kg-2G

= 1.38 x 10-23 J K-1k

= 5.67 x 10-8 W m-2 K-4σ

= 9.11 x 10-31 kgme

= 1.67 x 10-27 kgmp

= 9.81 N kg-1 or m s-2g

= 1.66 x 10-27 kg1 u

= 8.99 x 109 N m2 C-2k

= 1.60 x 10-19 J1 eV
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